holz4&home

home. garden. living.

Montageanleitung
Pflanzkasten S mit Rankgitter H4H291

A*2 B*1 c*1

D*1 E*2 F*1

=% M4*18 6Stk == M4*30 12Stk =G M4*35 4Stk

Bitte beachten Sie: Ziehen Sie Handschuhe vor Beginn des Aufbaus an.

D-49324 Melle-Gerden Vierhausen 9a info@holz4home.de



holz4&home

home. garden. living.

Assembly Instruction
Planter box S with trellis H4H291

A*2 B*1 c*1

D*1 E*2 F*1

=% M4*18 6pcs =% M4*30 12pcs ==8 M4*35 4pcs

Please note: Put on your gloves before assembling the planter box.

D-49324 Melle-Gerden Vierhausen 9a info@holz4home.de



